3.1 Notes: Quadratic Functions

f(x)=ax” +bx +c¢ (general form
> 8
T y-intercept
located at (0, c)

f(x)=a(x—-h)"+k (standard form)
Vertex = (h, k)

Note: use opposite value of

what is inside parentheses

If a > 0, then vertex is a minimum point.
If a < 0, then vertex is a maximum point.




Reminders:
To solve for x-intercepts, lety =0
To solve for y-intercepts, let x =0

To “complete the square”;
factor “a” using parentheses, then
divide “x” coefficient by 2 and square it



Tczca“cctomplete the square”:

or “a” using parenth.es

ctor “a’ P es, th

divide “x” coefficient by 2 and sgzare it

f(x)=2x"-16x +1
=2(x" —8x+  )— +1

X" —8x+16)—-32+1

=2(x—4)" -
7 is positive SO T h) 3k1
parabola opens \ -
upward opens ertex = (4, 31)
m value



Today’s assignment: ONLY sketch graphs for #15,17,19,22;

NO DECIMALS-> use fractions for #23,29,33
'\V\T

22.£(x) £2x° +12X410) — answer : -d
~(,0
1) W= Lserr Ay 18 1o o))
/ - AN X__\'m-l— l@.{f\j:O
= -3 E;(X'f’ v >; — %T — (\(*’7))L’"%
P h "~ Q&: -




Today’s assignment: ONLY sketch graphs for #15,17,19,22;
NO DECIMALS-> use fractions for #23,29,33

22.f(x)=2x"+12x+10 — answer parts a-d

C) Sketdhn Using info
fvom pvt b d\\) Vomam:

X =R
0D od,od)
(K(M’\s&'. 3 > -3

@ (3,00




Today’s assignment: ONLY sketch graphs for #15,17,19,22;
NO DECIMALS—-> use fractions for #23,29,33

33. h(x)=1-x—-x> — only answer parts a and c




Use the graph to identify:
a) vertex 11 i
X-int, y-int
E "
0 T o 7. Hint:

: b) M'“'m‘fm Use quadratic
2IEETSE or maximum formula to find
th ht
finedgarﬁ l:)ut(':he the x-intercepts

: c) Domain & Range in this case.
y-intercept.

0=2x"—4x-1

a b ¢



